EARAZROREIERT — 2 N—XBISY —F 20165128 7H (k) 9EI#AESH

Yl S%R2®% A 57AL76AKME ‘ xz 2 ‘ (ERBE] - | 4 (&) 12000 HE
[A&4£] 17 :1,400,000 @ 23 :420,000 @ 33 :252,000  ~ 4 3#&:168,000 @ . 5 7 :140,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 2| UN=Z2x2T 2 | pHEE 1:(1_6).2 754 |38.8 — | 3 | 438 EE@;@ (#218)
L:F1=TTUFLF B:RE2CKFLIVFR (-6) EBRT7—L
2|55 7xVRA7H— H o2 51%,%,&: (11:116/.25) 2-1-2  |39.7| — | 1 | 4n g%gﬁéﬂaﬁ)
R:hS2tP R B:UAM9I95774 (-5) pEa- e
= s 5 4t 2 | RAS 1:16.9 1-1-1 4.1 — 5 500 | WA (fafE)
3111 77/77D Fors o 42) |k sinternational (
RNAT——L B/ 1£E F|AiC
alsliz HT—ALF o — 4 2 Z’E%ﬂw 1:(137).6 8-8-10 |39.5| — 2 474 %;;iiﬁéﬂeﬁ)
R T—/S— K B:ILALRO—X R e agperses
507010/ FL¥v—F—2k Ho2 5#%%7& (11:117/.28) 1-9-7 | 39.6| — | 6 | 462 ii%f (#a1E)
R:TUF—v BitfrhevHOL 2 i e
6 g| Koy a i 2 ;lf‘_E‘[i)IEi 1(:31/%0 4-4-3 | 40.9| — 4 442 ﬁ;;ii;%éé y(ﬂei%)
LTy xbx BV HELT= ) am i
2 3| NUHITRFR # o2 | EEED 1(:31/%1 556 407 — | 8 | 434 111(*‘;;;1% $( ;E)
LRLTANAN BAATANIITY 19 | ptast RUM I 77 -4
8 NE L AN i 2 g’iﬁg—# 1:(128).5 9-11-11 | 40.0| — 9 452 {ZE%E (#A18)
RiAAvagRf—5— B:TSAZAA b (-6) SRES
9811 ¥F~//NA— 2 g%ﬁa’% (11:118/.27) 12-12-12 | 39.8| — | 12 | 433 /ﬁﬁ;!;ﬁz (1)
QS KAfO— B:FLE ) mas
N T MIAIY R i 2 ﬁ%ﬁi— 1:(13?).4 6-7-9 |41.5| — 11 431 gﬁfglﬁ (J111e5)
RiF4—TAHA BAIAFIET M3) | fmratt AilkS
1lsle | T2 o2 | BEAB 1(71?:;5 10-9-8 |41.3| — | 10 | 418 gig? (#a5)
LNRIVTSY BAMFITRY © FIR=4F T T — In
12 7|arha—1L o2 /5%53%‘?& 1:(24()).4 3-3-5 |43.4| — 7 | 403 %@gﬁ% P( I\T\E}uﬁ
QF4—FTYSLF BLIUPLR G s s
@ 1—F—@&BIEf
13—7—
Aol=5r= 1,5,7,8,3,9,2,12,4,6,10,11
83-%— | (1,5,7,8,(2,3),9,12,(6,10) 4,11
41—+ — 1,5,8,2,7,3,10,6,9,12,4,11
[ RN
B 2 630M | | 71 K 2-5 370M | | £ = 2-5 920M | | 3EE 1-2-5 1,950M
8 B 2 1809 1-2 710 B 2= 1,880M JEH 2-5-1 10,900M
5 180M 1-5 5004 B E 2-5 860
1 270 B HE 2= 2,190M

ABICOVWTRDTEEERROODE. TR LIV,



